


A A

D o

X427 =09 BE 29|

? 1

B 2

|

5109

Hi .

@ 3



3.

ARG A] Xt 4 3x% - 10 = 09] BE Ao F27

D -2 ® -1 3 0 @ 1



TH? (o

25

o
=

o, ?® + @ o] gk

S}
=

o

09 & 822 wet
L w9 FejBasolt)

3 1 @ 2 ® 3

@ 0



mr

min
03
T
nm,o
!

—

@ a=1

x—ay=1

?

o
L

-1

= a gk

D a

°

<
<M
bl

el
+

==+1

® a

® 9t}



6.

AR 263 = 0914 ey ol Hatela iy,
aBf+By+ya ,afy S Al TLO 8 ZH= AP Ao x34ax? +bx+c =0
A, a-2b+co Fe?

D -3 ® -2 B -1 @ 0 B 1



=1 3 _ kel
Sl w7t e® =12 ST o, 0 + 0? + 0? + 0! + 5 9

7.

@ 1 B 2

3 0



=

@%%@@{*”:2 o) 37} HEH A A1 AHEE ] 9]

ax—y=3

I A% o] ol WL

® a>-1 @ a<-1 ®a>
@a<; ©a>—2



® 174



10. k=] Zolzk Az PolBtk semtl 11 AAzHgo] gick, Ee9
o7t 34cm % w, o] 242G 7129 Zolel Az Aole] F
atelet (2, ] A2

YER
=%



242 +y2 4+ 2xy—4x+4=0

o=t

S

1

ks

g7



12. oA 262 —5x-+k = 0 ] o] fel47h Ht k9] Ao H4zhe
Fatolet,

s
=¥



13. AE7t Aed ARAPEAA 423 +ax? +bx+ 15 =09
1+2id off, 2] Al T 5 AT 9F29

D -4 @ -3 ® 0 @ 3 B 4

et

rd



14. F oA A4 2 +kx+3=0, x2+x+3k=00]
N, @ - k9] ghe oozt

e =
c

_T'_
[}

i

|



4 m® 319

g

=
=

Stojet,

:ll

SO
=

24 (m=-1Dx+m+1=09° F Zo] F47} H&

15.



